154kV B/P CU Event &&

Number Event 49 g 29l
10475 Error without protection blocking Relay alarm (Ry Block Z|X| 25 BU Fail o= 0I5t 1§ ZE
10476 Error with protection blocking Relay alarm (Ry Block &) BU Fail &Hdio= Qlst O F A%
X Q| AbAI i ] ]
176.1063.14  |Bay Unit @ 14 failure BURR 2 o= (Ry Fail) or Bay Unit I}2| £ 4l Fail (BU14)
BU2to| =4I Fail
10470 Isolator oper. Prohibited (isol. fault) DS Fail BU EAl Fail2 DS HAEXMHE O|FHE
55 Reset Device Device reset MEEo=Z olgt
67 Resume MEEA| S AlFail 2o 2 = E =
177.1334.01 >Block BUS1 1BUS 87 Blocking 1335.01 BI 232 Q15 Block
177.1346.02 >Block BF protection for BUS1 1BUS BF Blocking 1348.01 BI 232 QI5t Block
177.1334.02 >Block BUS2 2BUS 87 Blocking 1335.01 BI 232 QI5t Block
177.1346.02 >Block BF protection for BUS2 2BUS BF Blocking 1348.01 BI 232 QI5t Block
Loop Operation Int. two DS Close (=A]) DS FailA| DS Close 2 QIAl
Loop Operation +20s two DS Close (20sec) DS FailA| DS Close 2 QIAl
51 Devic is Operational and Protecting Device ready Device ready
177.1335.01 Blocked by BI BUS1 1BUS 87 Blocking BI &M 3} 27D =20 2 Bl Q1= & 0 1BUS 87 Block
177.1348.01 Blocked BF protection for BUS1 1BUS BF Blocking BI =t} 27D 52to 2 BI = &|0{ 1BUS BF Block
177.1335.02 Blocked by BI BUS2 2BUS 87 Blocking BI =43} 27D s2to 2 Bl Q1= & 0 2BUS 87 Block
177.1348.02 Blocked BF protection for BUS2 2BUS BF Blocking BI 24 3} 27D 52to 2 BI Y= &|0{ 2BUS BF Block
10471 Isolator oper. Prohibited (group alarm) DS Fail (Group alarm) 10470 Xt (08 AH)
10496 BF protection BZ blocked (group alarm) BF Blocking (Group alarm) BF Block (1& 4dH)
70 Setting caculation is running AE HANA] A HZAA|




